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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 16 rFkk iz'u 20 gSaA  

 Please make sure that the printed pages in this question paper are 16 in number 

and it contains 20 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij 
fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

 Don’t leave blank page/pages in your answer-book. 

SET : A SET : C 
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•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

    

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

 (i) LkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaA    

 (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA 

 (iii) ç'u la[;k 1 esa iUnzgiUnzgiUnzgiUnzg (i - xv) oLrqfu"B izdkj ds iz'u gSaA izR;sd iz'u 1 vad dk gSA ftuds lghlghlghlgh 
mÙkj viuh mÙkj&iqfLrdk esa fy[kus gSaA 

 (iv) ç'u la[;k 2 ls  9 rd vfry?kq mÙkjh; ç'u gSaA çR;sd iz'u 2 vadksa dk gSA izR;sd iz'u dk mÙkj 
yxHkx 30 'kCnksa esa nhft,A 

 (v) ç'u la[;k 10 ls  17 rd y?kq mÙkjh; ç'u gSaA çR;sd ç'u 3 vadksa dk gSA izR;sd iz'u dk mÙkj 
yxHkx 40 'kCnksa esa nhft,A 
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 (vi) ç'u la[;k 18 ls  20 rd nh?kZ mÙkjh; ç'u gSaA çR;sd ç'u 5 vadksa dk gSA izR;sd iz'u dk mÙkj 
yxHkx 70 'kCnksa esa nhft,A 

 (vii) iz'u-i= esa lexz :i ls dksbZ fodYi ugha gSA rFkkfi 5 vadksa okys lHkh lHkh lHkh lHkh nh?kZ mÙkjh; iz'uksa esa 
vkarfjd p;u iznku fd;k x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,d,d,d,d gh iz'u djuk gSA 

General Instructions : 

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated against it. 

 (iii) Question Number 1 consists of fifteen (i-xv) objective type questions carrying 

1 mark each. Candidates have to write the correct answer in their answer-

book. 

 

 (iv) Question Numbers 2 to 9 are very short answer type questions of 2 marks 

each. Answer these in about 30 words each. 

 (v) Question Numbers 10 to 17 are short answer type questions of 3 marks 

each. Answer these in about 40 words each. 

 (vi) Question Numbers 18 to 20 are long answer type questions of 5 marks each. 

Answer these in about 70 words each. 

 (vii) There is no over all choice. However, internal choice is given in all long 

answer type questions of 5 marks each. You have to attempt only one of the 

given choice in such questions. 
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[ oLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'u    ]    

[ Objective Type Questions ] 

  1. (i) fLFkj DoFkukad okys feJ.k dks D;k dgrs gSa \  1 

  (A) fLFkjDokFkh (B) vkn'kZ foy;u 

  (C) leijklkjh (D) buesa ls dksbZ ugha   

  Constant Boiling Mixture are called :  

  (A) Azeotropes  (B) Ideal Solution  

  (C) Isotonic  (D) None of these  

 (ii) 'kq"d lsy esa fuEu esa ls dkSu fo|qr vi?kV~; inkFkZ gksrk gS \ 1 

  (A) iksVSf'k;e gkbMªkWDlkbM 

  (B) lY¶;wfjd vEy  

  (C) veksfu;e DyksjkbM  

  (D) eSaxuht MkbvkWDlkbM  
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  In dry cell which of the following is the Electrolyte ? 

  (A) Potassium hydroxide 

  (B) Sulphuric acid 

  (C) Ammonium chloride 

  (D) Manganese dioxide  

 (iii) fdlh vfHkfØ;d ds fy, ,d vfHkfØ;k f}rh; dksfV dh gSA vfHkfØ;k dk osx dSls izHkkfor gksxk \ 
;fn vfHkfØ;d dh lkUnzrk nqxquh dj nh tk, \ 1 

  (A) 2 xq.kk (B) 4 xq.kk 

  (C) 8 xq.kk (D) 
4

1
 xq.kk  

 

  A reaction is second order with respect to reactant. How is rate of reaction 

affected ? If concentration of reactant is doubled ?  

  (A) 2 times (B) 4 times  

  (C) 8 times (D) 
4

1
 times 

 (iv) ;kSfxd [ ]3423 )( OCAlK  esa ,sY;qfefu;e dh milgla;kstdrk D;k gS \ 1 

  (A) 3 (B) 4 

  (C) 2 (D) 6 
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  What is the co-ordination number of aluminium in  [ ]3423 )( OCAlK  
compound ? 

  (A) 3 (B) 4 

  (C) 2 (D) 6 

 (v) fuEufyf[kr esa ls fdldk f}/kqzo vk?kw.kZ U;wure gksxk \  1 

  (A) 4CCl  (B) ClCH3   
  (C) 3CHCl  (D) 22ClCH   

  Which one of the following has the lowest dipole moment ? 

  (A) 4CCl  (B) ClCH3   

  (C) 3CHCl  (D) 22ClCH  

 (vi) fuEufyf[kr esa ls dkSu-lk vEy lcls izcy gS \ 1 

  (A) OHCH3  (B) OHCHCH 23  

  (C) CHOHCH 23 )(  (D) COHCH 33 )(  

  In the following which is strongest acid ? 

  (A) OHCH3  (B) OHCHCH 23  

  (C) CHOHCH 23 )(  (D) COHCH 33 )(  
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 (vii) ;kSfxd COOHCCHCH 233 )(  dk IUPAC uke ………….. gSA 1 

  IUPAC name of the compound COOHCCHCH 233 )( is ………….. . 

 (viii) dkSu-lh r`rh;d ,sehu gS \ 1 

  (A) t-C;wfVy,sehu (B) ,fFky,sehu 

  (C) N-esfFky,fFky,sehu (D) Vªkb,fFky,sehu  

  Which is a tertiary amine ?  

  (A) t-butylamine (B) Ethylamine 

  (C) N-Methylethylamine (D) Triethylamine 

 (ix) fuEu esa ls dkSu-lk {kkjd DNA esa gS ysfdu RNA esa ugha \ 1 

  (A) Fkk;ehu (B) lkbVkslhu 

  (C) ,sMsuhu (D) ;wjsfly 

  Which base is present in DNA but not in RNA ?  

  (A) Thymine (B) Cytosine 

  (C) Adenine (D) Uracil 
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 (x) vfHkfØ;k dh dksfV gS ………….., tc 114103 −−−
×= SLmolK . 1 

  Order of reaction is ………….., when 114103 −−−
×= SLmolK . 

 (xi) fuEu lehdj.k dks iwjk dhft, % 1 

 →+
K

HIOCHHC
373

356 ………… 

  Complete the following equation : 

 →+
K

HIOCHHC
373

356 ………… 

 

 (xii) foVkfeu ^ch1* (B1) dh deh ls gksus okyh chekjh ………….. gSA 1 

  Deficiency of Vitamin 'B1' causes ………….. .  

 (xiii) fgekad ds voueu dk dkj.k D;k gS \ 1 

  What is cause of depression in freezing point ? 

 (xiv) [ ] 33233 )()( ClOHNHCr  ;kSfxd dk IUPAC uke fyf[k,A 1 

  Write IUPAC name of [ ] 33233 )()( ClOHNHCr  Compound. 

 



  ( 9 ) 229/(Set : C) 

229/(Set : C)   P. T. O. 

 (xv) izkFkfed ,sYdksgkWy dk ,sfYMgkbM esa vkWDlhdj.k ds fy, iz;qDr vfHkdeZd dk uke crkb,A 1 

  Name the reagent used in Oxidation of a primary alcohol to aldehyde. 

 

[ vfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'u    ]    

[ Very Short Answer Type Questions ]        

  2. 3 g ,Fksuksbd vEy )( 3COOHCH  ds 500 g csUthu esa foy;u dh eksyyrk dh x.kuk dhft,A 2 

  Calculate molality of 3 g ethanoic acid )( 3COOHCH  in 500 g of Benzene. 

  3. vfHkfØ;k dh vkf.odrk rFkk la?kV~V vko`fÙk dks ifjHkkf"kr dhft,A 2 

 Define Molecularity of a reaction and collision frequency.  

  4. milgla;kstu leko;ork dh mnkgj.k lfgr O;k[;k djsaA 2 

 Explain Co-ordination isomerism with example.  

  5. mHknarh ukfHkdjkxh D;k gksrs gSa \ ,d,d,d,d mnkgj.k dh lgk;rk ls le>kb,A 2 

 What are ambident nucleophiles ? Explain with an example.  

  6. laØe.k /kkrq,¡ lkekU;r% jaxhu ;kSfxd D;ksa cukrh gSa \ 2 

 Why transition metals generally form coloured compounds ?  
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  7. jkbej-Vheu vfHkfØ;k dh mnkgj.k lfgr O;k[;k dhft,A 2 

 Explain with example Reimer-Tiemann reaction.  

  8. izksisuksu dks izksihu esa ifjofrZr djsaA 2 

 Convert Propanone to Propene.  

  9. ,sfuyhu ,oa N-esfFky,sfuyhu esa foHksn ds fy, ,d,d,d,d jklk;fud ijh{k.k nhft,A 2 

 Give one chemical test to distinguish between aniline and N-methylaniline.  

 

[ y?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'u    ]    
[ Short Answer Type Questions ] 

10. (i) jkmYV ds fu;e ls /kukRed ,oa _.kkRed fopyu dk D;k vFkZ gS \ 2 

   What is meant by positive and negative deviations from Raoult's Law ? 

 (ii) ,sYdksgkWy ,oa ty ds ,d foy;u esa vkf.od vU;ksU;fØ;k dh D;k Hkwfedk gS \ 1 

  What role does molecular interaction play in a solution of alcohol and   

water ? 

11. fuEufyf[kr ds vip;u ;k vkWDlhÑr ds fy, fdrus vkos'k dwykWe dh vko';drk gS \  

 (i) ,d eksy +4Pb  dks +2Pb  1 
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 (ii) ,d eksy 2CaCl  dks Ca 1 

 (iii) ,d eksy −

4MnO  dks 2MnO  1 

 How much charge required in Coulomb for the following reductions or   

oxidations ? 

 (i) 1 mole of +4Pb  to +2Pb  

 (ii) 1 mole of 2CaCl  to Ca 

 (iii) 1 mole of −

4MnO  to 2MnO  

 

12. ,d izFke dksfV dh vfHkfØ;k dk osx fLFkjkad 131015.1 −−
× S  gSA bl vfHkfØ;k esa vfHkdkjd dh 5 g 

ek=k dks ?kVdj 3 g gksus esa fdruk le; yxsxk \ 3  

 A first order reaction has a rate constant 131015.1 −−
× S . How long will 5 g of this 

reactant take to reduce to 3 g ?   

13. le>kb, D;ksa [ ]
+2

62 )( OHNi dk foy;u gjk gS ijUrq [ ] −2
4)(CNNi dk foy;u jaxghu gS \ 3 

 Explain why a solution of [ ]
+2

62 )( OHNi  is green but a solution of [ ]
−2

4)(CNNi  is 
colourless ? 
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14. 1
NS  o 2

NS  vfHkfØ;k esa czkseksC;wVsu ds pkj leko;oh ;kSfxdksa dh vfHkfØ;k'khyrk dk Øe vuqekfur 
dhft,A  3 

 Predict the order of reactivity of the four isomeric bromobutanes in  1
NS  and  

2
NS  reaction. 

15. esFkkWDlhesFksu dh HI ds lkFk vfHkfØ;k dh fØ;kfof/k fyf[k,A 3 

 Write the mechanism of the reaction of HI with Methoxymethane. 

16. (i) xSfcz,y FkSfyekbM la'ys"k.k ij y?kq fVIi.kh fyf[k,A 2 

  Write short note on Gabriel phthalimide synthesis.  

 

 (ii) D;ksa ,sfuyhu ÝhMsy-Øk¶V~l vfHkfØ;k iznf'kZr ugha djrh \ 1 

  Why Aniline does not undergo Friedel-Crafts reaction ? 

17. (i) js'ksnkj izksVhu ,oa xksfydkdkj izksVhu esa vUrj fyf[k,A 2 

  Write differences between fibrous and globular proteins. 

 (ii) ySDVksl ds ty vi?kVu ls dkSu-ls mRikn curs gSa \ 1 

  What are hydrolysis products of lactose ? 
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[ nh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'u    ]    

[ Long Answer Type Questions ] 

18. (i) oS|qr-jklk;fud Js.kh D;k gS \ blds rhurhurhurhu vuqiz;ksx nhft,A 3 

  What is electrochemical series ? Give its three applications. 

 (ii) 4NiSO ds ,d foy;u dk IySfVue bysDVªksMksa ds chp 10 ,sfEi;j dh /kkjk izokfgr djrs gq,]              

10 feuV rd fo|qr~ vi?kVu fd;k x;kA Ni dh fdruh ek=k dSFkksM ij fu{ksfir gksxh \ )( 7.58Ni  2 

  A solution of 4NiSO  is electrolysed between platinum electrodes using a 

current of 10 amperes for 10 minutes. What mass of Ni deposited at the 

cathode ? )( 7.58Ni  

vFkokvFkokvFkokvFkok    

OR 

 

 (i) eksyj pkydrk D;k gS \ lkanzrk ds lkFk buds ifjorZu dh xzkQ cukdj foospuk dhft,A 3 

  What is Molar conductivity ? Discuss their variation with concentration 

graphically. 
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 (ii) ;fn ,d /kkfRod rkj esa 1.5 ,sfEi;j dh /kkjk 3 ?kaVksa ds fy, izokfgr gksrh gS] rks rkj esa ls fdrus 
bysDVªkWu izokfgr gksaxs \   2 

  If a current of 1.5 amperes flows through a metallic wire for 3 hrs, then 

how many electrons would flow through the wire ? 

19.  (i) ysUFksukbM ladqpu D;k gS \ ysUFksukWbM ladqpu ds nks nks nks nks ifj.kke fyf[k,A 2  

  What is meant by Lanthanoid Contraction and write down its two 

consequences ?  

 (ii) 722 OCrK  dh vkDlhdj.k fØ;k dk mYys[k dhft, rFkk fuEu ds lkFk vk;fud lehdj.k    
fyf[k, %   3 

  (a) vk;ksMkbM vk;u 

  (b) vk;ju (II) foy;u  

  (c) SH2  

  Describe the oxidizing action of 722 OCrK  and write Ionic equation for its 

reaction : 

  (a) Iodide Ion 

  (b) Iron (II) Solution  

  (c) SH2  
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vFkokvFkokvFkokvFkok    

OR 

 (i) ikbjksyqlkbV v;Ld ls iksVSf'k;e ijeSaxusV cukb,A 3 

  Prepare Potassium Permanganate from Pyrolusite ore. 

 (ii) tyh; foy;u esa f}la;ksth vk;u ds pqacdh; vk?kw.kZ dh x.kuk dhft,] ;fn ijek.kq Øekad 25 gSA 2 

  Calculate the Magnetic moment of a divalent ion in aqueous solution with 

atomic number 25. 

 

 

20. Describe with equations : 

 lehdj.k }kjk o.kZu dhft, % 

 (i) dSfutkjks vfHkfØ;k   2 

  Cannizaro reaction 

 (ii) DyhesUlu vip;u   2 

  Clemmensen reduction 

 (iii) jkstsueqaM vip;u   1 

  Rosenmund reduction 
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vFkokvFkokvFkokvFkok    

OR 

 ,d dkcZfud ;kSfxd (A) ftldk vkf.od lw= OHC 88  gS] 2, 4 - DNP vfHkdeZd ds lkFk ukjaxh-yky 

vo{ksi  iznku djrk gS vkSj NaOH  dh mifLFkfr esa 2I ds lkFk xeZ djus ij ,d ihys jax dk vo{ksi 

cukrk gSA ;g ;kSfxd VkWysu-vfHkdeZd vFkok Qsfyax-foy;u dks vipf;r ugha djrk vkSj u gh ;g 

czksehu ty vFkok cs;j-vfHkdeZd dks o.kZfoghu djrk gSA ;g Øksfed vEy }kjk izcy vkWDlhdj.k ls 

,d dkcksZfDlfyd vEy (B) cukrk gS ftldk vkf.od lw= 267 OHC  gSA ;kSfxd (A) o (B) dks igpkfu, 

,oa iz;qDr vfHkfØ;kvksa dks le>kb,A 5 

 An organic compound (A) with Molecular formula  OHC 88  forms an orange-red 

precipitate with 2, 4 - DNP reagent and gives yellow ppt. on heating with 2I  in 

presence of NaOH. It neither reduces Tollen's or Fehling's reagent nor does it 

decolourise bromine water or Baeyer's reagent. On drastic oxidation with 

chromic acid, it gives a carboxylic acid (B) having molecular formula 267 OHC . 

Identify the compound (A) and (B) and explain the reaction involved. 

 

S 


